[ﬁ%‘%¢%5ﬁﬁ?ﬁ£‘ﬁf§§ﬁéﬁﬁg1¢7m—-?J\v— b

lih\ 14\14\2

28—} ) —

N
AN-FA-fHHES

L \‘z \i < = 14 \ld ‘2 N
5 | BoHRBHERB | V| JEREY
ETHD

=4

EUR [/ \i
. Bl L, T RBIE
RIEENCD | pod) : o sesean
HEHETHD s
VO \2 5= QP l

[ WARBRE DETE DR EEINA + IERMESINAT + T OMDEFHFIE RN ]

| I |

[ S80FHMHLTTHD ] [ SOFMHBA120FUTTHS ] [ 120582 TH% ]

FERSZED SN I SZED &M FERSZEDESEM

650 HH (&) 550 5 (B&) 500 HH (B &)

1,650 HH (k&) 1,550 5 (k18) 1,500 7 (k&)

DFTHB (1) LIFTHD (Fl) DFTHB (1)

=N =N —‘ VDWW Z =N RN
IIAY-4 ‘ 4
{)

14

[%IEQB%‘ ] [%ZEQIE% ] [%3;95%@ ] IR FERLY

(ED2 SHRERE (40 UL 65 BRMOBRRE ) DFEIF&FDOEEZEFINAIZ»PDHS5T 1,000 FHE
). 2,000 5 () AT L2V &7,




